Reception Procedure

ieee80211_decap

File: net80211/ieee80211_input.c

static struct sk_buff *

ieee80211_decap (
struct ieee80211vap *vap, struct sk_buff *skb, int hdrlen)
vap is a pointer to a structure that describes the underlying device. 
skb is a pointer to a structure that includes a buffer, where the data of a packet is located. Every packet is associated with an instance of the structure sk_buff.
hdrlen is the length of the header
Returns a new instance of the structure sk_buff that has the data of the previous packet, except for the 80211 frame header. This packet has the appropriate Ethernet header.
I don’t consider about the case of fast frames. So I assume that the constant ATH_SUPERG_FF = 0
1. memcpy(&wh, skb->data, hdrlen)

wh (struct ieee80211_qosframe_addr4) keeps the 80211 header of the packet. The function has defined wh in a way that it will be able to keep even the longest frame header.
2. llc = (struct llc *) skb_pull(skb, hdrlen)
The function removes the LLC information from the packet. It keeps this information in the variable llc (struct llc).

3. Then it uses llc to see if it has to pull more data from the packet and to fill appropriately the variable ether_type. 

4. eh = (struct ether_header *) skb_push(skb, sizeof(struct ether_header))

The function pushes space for the Ethernet header and eh (struct ether_header) points to this space.

5. Then, it fills the two simple fields of the Ethernet header (source and destination) by using the variable wh. Correspondingly to the direction of the message and the 4 or 3 addresses (look Table 2), the function fills the addresses of the Ethernet header.
6. Then checks if the pointer to the data is not aligned, and in this case it reproduces an instance of sk_buff.

7. It fills the last field of the Ethernet header, eh->ether_type.

8. returns the changed skb.
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